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2 = FS I m
oo e " & =
a2 & NE L MAE =2 off &b oA = A
5000
XL EFE | 14,506,474 15,395,000 A\ 888,526
5100
K| Bt Xl &F &t 14,506,474 15,395,000 N\ 888,526
5110
Xl XH A&t 14,506,474 15,395,000 A\ 888,526
5111
INEELDN PN, 14,506,474 15,395,000 N\ 888,526
300
TR AS 14,506,474 15,395,000 A\ 888,526
310
Kl ek xH & 2t 14,506,474 15,395,000 888,526
311
NEE=10IDN; 3,556,474 4,115,000 558,526
271,350 450,000 A178,650101 AIEXIZGINED | S A2 AHE0] AL
ootx=ELX & = 271,350
2,857,924 3,238,000 AN380,076|04 SLHIEXUZ ASO A
oLH=ERA('96, 'BMEXZ) = 604,800
oMOIEESRXSHNAHE (MMEXZ) = 309,574
o=zAHHIALIIAXTH (MEXR) = 324,000
oXlgE EILAE('97 ~ '99 HEXZ) = 1,093,950
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%} (5000) K12 %I EHY 2 (5100) K 744 & 3t (5110) KIS TH & & I8 (5111) RIS AH A8 MIAIBE: (310) XIS 7H &F 8 EENEGR)
L = d @ = | oy i}
of &b oA N 2 ol =
.2 N Mg 2 of & = oA
1,120,000 1,120,000 006 JIEt2LARI S Ars
oELHIALMI EZH(2XIIB) = 300,000
oEYHIA-MAZTL(SXII2) = 700,000
oAYHA FHHIIIZ M8 = 120,000
A & & 14,506,474/ 15,395,000 888,526
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